@ J % é quattro decimali, ordine delle operazioni tra
2 parentesi

Nome: Data: Punteggio:
(18+3—-5,4)x4,7 = (5,5+4,5)x3,8+2=
4,8—-6,8(6,7—6,5)= 8+2—-2,2)x5,7=
5,8—5(6,5—4,7)= (30+5-5,9)x2,4=
45,1-6,1)+~2= 16(6,9 +4,9)+4 =
5,7+6,112,2—-5,2)= (12+2+4,4)x4,9 =
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@ J % é quattro decimali, ordine delle operazioni tra
2 parentesi

Nome: Data: Punteggio:
(18+3—-5,4)x4,7=282 (5,5+4,5)x3,8+2=40
4,8—-6,8(06,7—6,5) =344 (8+2—-2,2)x5,7=10.26
5,8—=5(6,5—4,7)=-32 B30+5-5,9)x2,4=0.24
45,1-6,1)~2=-2 16(6,9 +4,9)+4 =472
5,7+6,1(2,2—-5,2)=—-12.6 (12+2+4,4) x4,9 =50.96
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